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b3
Cr,0;" (aq)/ Cr™ (aq)
Cr,07"(aq) +14H *(aq) +6e” = 2Cr**(aq) + 7H,0(¢)
b 3
OlioyS 5 Vel S0 (aq) 5 sl vl 1 S,0F (aq)
S,0;"(ag)/ S,0; (aq)
S,0¢ (aq) +2e” = 25,05 (aq)
b 3
Cl,(9)/Cl (aq)
Cl,(g)+2e =2C/ (aq)

Fe* (aq)/ Fe(s)
Fe* (ag) +3e” = Fe(s)
LS LS gaaSorm wol 1 S,07 (aq)
S0 (aq)/ SO; ™ (aq)
S,0; (aq) +2e” = 280; (aq)

%
H,0,(aq)/ H,0(¢)
H,O,(aq) +2H " (aq) +2e” =2H,0(¥)
b 3

SO;" (aq) / SO,(aa)
SO; (aq) +4H"(aq) + 26" = SO,(aq) +2H,0

b 3

CO,(aq)/H,C.0,
2CO, +2H"(aq) +2¢" =H,C,0,(aq)
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s Br,(9)/Br(aq)
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x3 Br,(ag)+2e =2Br (aq)

x2  Al(s) = Ar* (aq) +3e

2A/(s) +3Br,(aq) = 6Br~(aqg) + 2A¢** (aq)
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_ m(Br,)
no(Brz)_ M (BI’Z)

m
d=p="=m=pV
p=y=m=p

ny (Br,) =—2Y__ = 0,039mol

M (Br,)
' X Jelad] passi Jlosiowl Jelaid saogll Jga=ll
2Al 3Br; 2(A|BI’3) /o.Lo.».”
no(Al) no(Br,) 0 0 Jeladl &l
no(Al)-2x 0,039-3x 2X X Jeladl JU>
No(Al)-2Xmax 0,039-3Xmax 2Xmax Xmax Jeladl a5
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0,039-3x__ =0 ¢ ny(Al)-2x_ =0

old JWlg X =0,013mol Ul zuiws aull @Mell (o

n,(Al) —2.0,013=0=> n,(Al) =0,026mol

no(AI)=%:> m(Al) = 0,69g
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H.,O,(aq) + 2H " (aq) + 2" = 2H,0(/)

217 (aq) =1,(g) +2e
P d Jeladl asleo
H,0,(aq) +2H"(aqg) + 21" (aq) —» 2H,0+1,(aq)
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H,O,(aq) +2H " (aq) +2e” = 2H,0(/)

H,0,(aq) = 0,(aq) + 2H " (aq) + 2e”

2H202(aQ) - Oz (f) +2H zo(f)
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N0, (s) +4H " (ag) + 26 = n**(aq) + 2H,0
Pb(s) = Pb* (aqg) + 2e
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CrOZ (ag) +2H " +397° (aq) — 2Cr* (ag) +3n0,(s)+H,0 3 _2
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